Counting
Atoms Worksheet

Name: Grade:

Fillin the blanks below carefully

Subscript increases the number of atoms of one element in a compound. If the
subscript is outside the parentheses, multiply all the elements inside the brackets.

Count the number of atoms in each molecule.

2) Ca(NOs):
Ca=
N =

0=
Coefficient shows the amount of entire compounds in a reaction. Count the number of

atoms in each formula.

3) KCl
K=

Cl=

4) 2KCl
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Answer Key

1) NHs
N=1
H=3

2) Ca(NO:s):
Ca=1
N=2

O0=6

Coefficient shows the amount of entire compounds in a reaction. Count the number of

atoms in each formula.

3) KCl
K=1
Cl=1

4) 2KCl
K=2
Cl=2

5) 3KCl
K=3
Cl=3



